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Read the given passage and answer the following questions.

The need for digital literacy 1n a country as populous and diverse as India is critical
If 1t 15 used for education, healthcare, citizen services, financial services or any other basic
need, technology and connectivity, it can make a huge difference to the socio-economic
levels of a community, and ultimately to the country, since true progress comes from
inclusive growth.  Digital Iiteracy plays a vital role m e-services like e-commerce,
e-governance, e-panchayat, e-learning etc. In current scenarto, technology is becoming an
mevitable part of our daly life be it using mobile phones, drawing cash from ATM machines,
bookimg a railway ticket etc. Hence, there 15 a need that every mdividual m the country must
be equipped with necessary skills so as to use the technology with responsibility. The
definition of who 15 considered a literate or educated has evolved over time and 1t is not
complete without digital literacy. Digital literacy according to the popular definition 15 the
ability to locate, organize, understand, evaluate and create mformation usmg digital
technology.

Sub questions

Question Number : 1 Question Id : 9168514997 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What is meant by digital literacy?

Options :

Digital literacy in a country as populous and diverse as India
1.

Digital literacy 1s the ability to locate, organize understand, evaluate and create

information using digital technology.
2.

Digital literacy plays a vital role m e-learning
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None

Question Number : 2 Question Id : 9168514998 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Give examples for e — services

Options :

¢ — ConMunerce

¢ — Z0VaImance

¢ — panchayat

all
4,

Question Number : 3 Question Id : 9168514999 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What 1s the meaning of the word “ievitable™?

Options :

uncertain

uncomfortable
2.

avoidable
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unavoidable
4.

Question Number : 4 Question Id : 9168515000 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following is not true?

Options :

More than half of India’s population live in cities

More than half of India’s population in rural areas and villages

Most of the Indian villages are remote and isolated

None

Question Number : 5 Question Id : 9168515001 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What 1s becoming an inevitable part of our daily life

Options :

education

literacy
2.
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technology
3.

soclo-economic levels

Sub-Section Number : 2
Sub-Section Id : 916851220
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9168515002 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the parts of speech of the underlined word.
If you study hard. you will get good rank.

Options :

Pronoun

Adjective

Conjunction

Adverb
4.

Question Number : 7 Question Id : 9168515003 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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sun 18 very bright today. (Fill in the blank with the suitable article)

Options :

An
1.

A
The
3.

No article
4.

Question Number : 8 Question Id : 9168515004 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Choose the correct question tag to the sentence.
Many people attended the meeting.

Options :

Didn’t they?
1.

, Do they ?

Weren’t they
3.

Did they?
4.
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Question Number : 9 Question Id : 9168515005 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What do we call the greeting part in a letter?

Options :

Subscription

, Body

Salutation

A Superscription

Question Number : 10 Question Id : 9168515006 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the figure of speech of the underlined.
Life is as tedious as a twice-told tale.

Options :
Metaphor
1.
Simile
2.
; Hyperbole
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Personification

Question Number : 11 Question Id : 9168515007 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Choose the rightly spelt word.

Options :

Guarentee

Noticeable

Abundent

(Genarous

Question Number : 12 Question Id : 9168515008 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill in the blank with the correct conjunction.
I ran fast missed the train.

Options :

because

that
2.
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but

for

Question Number : 13 Question Id : 9168515009 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill m the blank with suitable preposition.
The schools have been closed last Friday.

Options :

among

for
sice

from
4.

Question Number : 14 Question Id : 9168515010 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The synonym of ‘Metamorphosis’ 1s

Options :

1 Great shape
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Transformation
Superior organization

4 Irregular

Question Number : 15 Question Id : 9168515011 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Find the meaning of the underlined word.
He was profusely talented.

Options :

abundantly

dearth

limitation

enough
4, 5

Question Number : 16 Question Id : 9168515012 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill in the blank with the right Verb.
I letters since 9°° clock in the morning.
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Options :
has been writing

1.

am writing
2.

written

have been writing
4.

Question Number : 17 Question Id : 9168515013 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Complete the Idiomatic expression.
He slept like a

Options :

wood

stone

mole
4.

Question Number : 18 Question Id : 9168515014 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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‘Fear of open spaces’ is called

Options :

Claustrophobia

Necrophobia

Agoraphobia

Acrophobia

Question Number : 19 Question Id : 9168515015 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
He said to her, “T bought a house™.

The indirect form of the sentence is:
He told her that

Options :

1 she bought a house

, he was bought a house

; he had bought a house
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he has bought a house

Question Number : 20 Question Id : 9168515016 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The antonym of the word lend 1s
Options :

give
1.

remrn

extend

borrow
4.

Question Number : 21 Question Id : 9168515017 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The active voice form of “All the food has been eaten by them™ is

Options :

They have eaten all the food

They ate all the food
2.
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They had eaten all the food
3.

. We ate all the food

Question Number : 22 Question Id : 9168515018 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A stone that goes on rolling 10 Mass.

Options :

gets
1.

accumulates
3 collects

gathers

4.

Question Number : 23 Question Id : 9168515019 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

[Leave letter1s a/ an

Options :

official letter
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business letters

personal letter

none
4.

Question Number : 24 Question Id : 9168515020 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Apostrophe 1s not used

Options:

: n a contraction to show where letters have been omitted or left out

when you leave the first two numbers of a year
2.

to indicate omitted words in a quotation
3.

for a one syllable smgular noun that ends in possessive
4.

Question Number : 25 Question Id : 9168515021 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Soft minded individuals are to embrace all kinds of superstitions.

Options :
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eager

pronc

disposed
3.

reluctant

4,

General Knowledge
Section Id : 916851175
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15
Section Marks : 15
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851221
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 9168515022 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What is the special call centre number for complaints against corruption?

0208 B HohO (585 576 Towd Soath?
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Options :

14140
4400

14444

14499

Question Number : 27 Question Id : 9168515023 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Who was the Prime Mimister of Britamn at the time of India’s independence?
030 JSodfo Tobdd 200008 PR PEFIA0Y A9

Options :

Winston Churchaill

| DD RO B0S

Clement Attlee

, 500085 e9e3

Lord Mountbatten

e_:ué A3°08) et
3.
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Baldwin

E..‘J"’§55

Question Number : 28 Question Id : 9168515024 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Sundarbans m India 1s a fine example of which among the following kind of
Forests?

PEE505"D 1WotsEyS STFen $0 D 50N VEHVD $0d) GEFTER!

Options :

Dry Forests
TS e9ciad)en

Deciduous Forests
@ngej‘} R9C4 RN

Tidal Forests
€3¢85 evctaHew

Wet Deciduous Forests
Cx o e_egjoﬁe_‘:‘a RIS

Question Number : 29 Question Id : 9168515025 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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MNREGA 1s implemented by which of the following?
2063°J¢5° MNREGA & 095508000368

Options :

Gram Panchayat
TPed) 200TPOG

District Collector

2er 356
2. = e
Minister for Education
QT F°A° 008
3.
Governor
ﬁ&bcﬁ‘lé
4.

Question Number : 30 Question Id : 9168515026 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fixation of nitrogen 1n the soil
2)ES” DGR FOO BOO

Options :

Virus
. 26D
2.
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Sponges
Q02 EeD

Bacteria

e S B03®
3, =

Protozoa

eSS e

4

Question Number : 31 Question Id : 9168515027 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following enzymes 1s found in human saliva?
& $00 JoFVVS DO APHD TR VW)

Options:
Trypsin
B\

Pepsin

DDYS

2

Rennin

; OO
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Ptyalin

N L0000

Question Number : 32 Question Id : 9168515028 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of these istruments 1s used for testing the purity of nulk?
S0HaedS @ 0OST) O RS\ BR DO et S &DArATH?

Options :
Hydrometer

E L6

Lactometer

wgbamé

Galvanometer

nﬁwsg 066

Ammeter

@5)3&&35

Question Number : 33 Question Id : 9168515029 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which element is used in the making of the “Solar Panels™?
A6 HDOSTL S$ardS” DJWIAOS TOEHD AO?

Options :

Sn
1.

S1
2.

Cs

3.

Pb
4.

Question Number : 34 Question Id : 9168515030 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What 1s the name of the indigenously developed drone which DRDO has
provided to the Indian Army?
w68 pRjo §6% DRDOS ddatoomr edy® 328 £S 96 38’

Options :

Arjun

290~
1. &

Bharat

POD
2.
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Dhruv

Gy

Agni

e9fy
4. A}

Question Number : 35 Question Id : 9168515031 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The book named ‘Three Decades in Parliament’ 1s a collection of the speeches
of
A G8EY a0 g0t & QYSo A0 YorPY ArFGe?

Options :

Somnath Chatterjee

1 DorH ujmg
L.K.Advani
e5.8. @c:sﬁf).ﬁ)

2.

Sonia Gandlu
Do mrod

A.B.Vajpayee
2).8). ST°2ad00
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Question Number : 36 Question Id : 9168515032 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
India celebrates February 28 every year as ‘National Science Day’ because of

@ 6dGE0 DB 283 ‘Ao ards AJdyHo' P AGLPoLL S°6k0

Options :

Raman Effect
TP DPd0

Chandrasekhar Limait
5083200 05

Ramanujan Number
TPAIPRV2R DO

Aryabhatta Zero
Eﬂdﬁeﬁ%&} Jn:l.)ﬂ”;l

Question Number : 37 Question Id : 9168515033 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

COVID-19 1s a disease caused by
COVID-19 @5@ icplef=te

Options :

SARS-CoV-2
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SARS-CoV
2.

MERS-CoV

HiN;
4.

Question Number : 38 Question Id : 9168515034 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Wimbledon-2019 Women’s Champion
Do2VVR-2019 doirve J&Es

Options:

Serena Williams
2B DYooy

Simona Halep
DTS TTH

Petra Kvitova

DEr S’

Venus Williams

DO DYDY
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Question Number : 39 Question Id : 9168515035 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

‘Film and Television Institute of India’ 1s located at
‘000 0k B8O fai)?gm?ges £96) ‘ao&o‘.ir’umé&m €Y 0.

Options :

Mumbai
s 0LIAND

Delhi
&8

Kolkata
Ee5<et

Pune
FO)

Question Number : 40 Question Id : 9168515036 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following companies manufactured the chetak Helicopter?
368 2r0570 NGNS S0

Options :

1.
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Pakistan Aeronautical Limited

FEFS 8TBES OBE

Kajakistan aeronautical Limited

h.?f.uk_'-" {\E.a -’-\65 &\4@5 @5:0&,5

Hindustan Aeronautical Limited

2r0HARS ABBES DBE

3.

Kilikistan Aeronautical Limited

8D8FS OB TEES OMBE
4.

Teaching Aptitude

Section Id : 916851176
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851222
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9168515037 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following is the main objective of teaching?

BobTHS® D (s S @%@?

Options:
To develop thinking power of students

Dergioed” @& Row 8V DosroboBnEo
1,

To give information related to the syllabus

o
g

e [HeeerdBD Yoobod) ddroedo askto
o L %)
2.

Prepare the students for examination

oD DO Ko BedSo
. 50 &L oS

3

Help the students to get jobs

&Dmﬂé@w ﬁﬁ%mw PoSEeR8 BEESHHESE0
4.

Question Number : 42 Question Id : 9168515038 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a student is not able to answer in your class then you will

S SEKEE° 2.8 Dl o 2RV > ver T

Options :

ask another student to answer

HO°8 g8 QDATPTPH0 0ihEedd

AP EDCET 2020



AP EDCET 2020

ask easier question

008DS (D8 tdrveed

2.
punish him
@D %%@_2&53
3.
ask him to sit down
@& éﬁ@&@oéﬂﬁa
4.

Question Number : 43 Question Id : 9168515039 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following skills are needed for present day teacher to adjust
effectively with the classroom teaching?

618 KOE° RegoB0m @D © D808 (8 eareroiuld & (Bod

\/

Jeen EValele

a. Knowledge of technology

oS8 HOepso
»-4'

b. Use of technology in teaching — learning
&5 f,ﬂ“"‘“’*oo POSH 6@_; N0 GI@rRA0NK0

¢. Knowledge about students needs
dEded edioem (PO &ho
dQ [ o

d. Content mastery

Q0D %o&ééo

Options :
a& c

a&d

b,e& d

b &d

Question Number : 44 Question Id : 9168515040 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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When was the National Adult Education Programme (NAEP) launched ?
PHH STras SWFE’E'@@O (NAEP) a3pid @odoiadon?

Options :

1964

1972
1978

1986

Question Number : 45 Question Id : 9168515041 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The main purpose of “Parent - Teacher - Association (PTA)” n any school
15 to

D RO w0085 - 855 - eddis (PTA) ANy eéééo

Options :
Keep students in check / control

Demgood 8 | Qoo eohes
1.
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Collect additional funds for remedial teaching
DS TS8R0 083D APe VE00HE

Involve parents for improvement of school teaching

FdTo SGS 1dHIHSS LD EPSothe (Hhcdho
3.

Understanding of the problems faced by school

TS ﬁcﬁ:&‘;oéw%‘ ﬁé}}ﬁéﬂﬁ} @igo 05508
4.

Question Number : 46 Question Id : 9168515042 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

At primary level, it is better to teach in mother language. Because it.

(B8 ﬁgowé*:, &rd) st S005%0 0. Jothod 3H
Options :

develops self confidence in children

%Jgg@é‘s @e‘% 8)%@5%?\)& 2000000

1.

makes learning easy
@35535@?33& Q0083880 Zﬁ@o&b

2.

1s helpful in intellectual development

colA) Do BB DNLEH0H

3.
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help children to learn in a natural atmosphere.
Do) Jire TEed8n0s° 363&%%363& eE D00

Question Number : 47 Question Id : 9168515043 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

To prepare students as good citizen, a teacher should
3&5@@@ $i08) FBherrr '%J@QW% 8.8 ﬁ%@éd}:{fc 3o Jord

Options :

maintain strict discipline

EBIN (B085ea:D OO

provide good leadership
00D Teh8ER) ©0H0TD

be good orator
00 DB &oE°d

have good general knowledge
00D FEedes eP0 DA Sowed
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Question Number : 48 Question Id : 9168515044 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A good supervisor of an educational institution expects
2.8 O oy Gos) @rriyBs SEEH% SHHIb
Options :
name and fame

Fed (Daregoen

financial benefit
e88 (HBresdo
)

2
quality of education
TPEAgRR S

3,
more pass percentage
0O &éﬁéé BeH0

4, :

Question Number : 49 Question Id : 9168515045 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The purpose of assignments in the textbook is,
FEDRE0E° Y DTraSIne B 6GE0 Ho
o T i ]

Options:

1.
AP EDCET 2020
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to act as a guidance for the unit tests

G5 HOZeB Syelalelicotila HATHEo

to provide practice to the learner

@grgdBls TS0 @ododio

2.

to help learner revise and review chapter
@Qﬁécﬁﬁf\)& 80A $08D0HtE Hda%w (‘i’jﬁbioﬁ)éaéa @aréeﬁéaf&%

Rerodatio

to aid teachers

GREICne JFPchHEEo

4,

Question Number : 50 Question Id : 9168515046 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Moral values can be effectively inculcate among the students, when the
teacher

365 et st SigSodorr L0froBoimRE eartrditd BapSeRe
Options :

frequently talks about values

S Denden HOod) SeEritio
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himself practices them

‘écgcﬁ:orw 70D e9900DG0

2.

tells stories of great persons

3 58 Bneon IYKo
3.

talks about gods and goddesses

é@@a& 20805 BB 900D Srériiio
4.

Physics

SectionId : 916851177
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851223
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9168515047 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A vector 4 i1s solenoidal when
A o 567 BOTonEE ©rHesH DoHHEm
Options :
1 VxA=0
V.A=0
2.
Vx(VxA4A)=0
3.
V(V.A)=0
4.

Question Number : 52 Question Id : 9168515048 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Stoke’s thearom permits change — over from

5 RETodin & Bobd SR JonohodIs

Options :

‘U’Dlllll]ﬂ mtegral to surface mtegral and vice-versa

i

DB marsedd), 688 sirSodrar o8y DNG ahaENTN
L=

volume mtegral to line mtegral and vice-versa
DF08EFe JEPEeR, BHD JErsedrir B DB COTRD
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surface mtegral to ine mtegral and vice-versa
aH88e JErEed, BH LSS B ARV ow bRy

None of these.
23D =&

Question Number : 53 Question Id : 9168515049 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The direction of grad ¢ is
grad ¢ &<

Options :

Tangential to level surface

D&l @Eﬁgﬁg &F

Normal to level surface

mencterdd won &3

mclined at 45° to level surface
JdS &8 45° oo

Arbitrary
A olcng &%

Question Number : 54 Question Id : 9168515050 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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If earth be one-half of its present distance from the sun, what will be the number of
days m a year ?
Am D8 SPB08 o HEtimso, [FHosinR) rdo €8 Mrikond®s eph Noddois

) B aenotzon?

Options :

129

Question Number : 55 Question Id : 9168515051 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
In Ruthuerford scattering experiment, the differential scattering cross section is
inversely proportional to
&r85:58 $050m Hefiin B08 ASPHFEINE" $othih?

Options
Siﬂf
2
1.
sin® 9
2
2.
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Question Number : 56 Question Id : 9168515052 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

According to special theory of relativity, a body can't travel with the speed of light,
because its

@’:E';aé Fole Repodin @sdo, D 9% 08 Triod® [HuirdorTERYLD TEnin
Options :
Velocity will soon be mfinite
ettty égeaio 500D
1
Mass will be infinite

(Boe8 ©R08B0

2.
Mass will be reduced to zero
Boe8 Sesbonsl®yo

3.
None of these

4 S8 =%

Question Number : 57 Question Id : 9168515053 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The Imiting values of Poisson’s ratio are

oS A8 Dend BwE) 06

—

Options :

— 110 ¥1

— 1 %08 +1

-2
=
o]

_|_
)

1o
&

ol +2

—1to0.5
— 1008 0.5

—on 10 4o

[ 1]
—g*:-?iJDG 4o

Question Number : 58 Question Id : 9168515054 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Equinoxes are

Options :

March 21 and September 222

Srg) 21 pddin Dondy 22
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March 3 1% and October 16%
Soe@) 31 sodain @;.’1:;::163 16

Jan 15® and December 222

28 15 hdchn doad 22

3.
Feb 28® and August 22
A DRB 28 Hbdin wiiy 22

Question Number : 59 Question Id : 9168515055 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
In SHM. at what displacement. the kinetic and potential energies will be same

Ol &éé@‘o%&@ﬁ (83, 8L JarNirv?

Options:
amplitude
2

00 HOS
2
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amplitude

J2

0D DO
s

|

2 amplitude

J2 8053 H00&

3,
— amplitude
\/g B0 D0
2

4.

Question Number : 60 Question Id : 9168515056 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The period of oscillation for a compound pendulum 1s
(7 - length of the pendulum. k - radius of gyration)

% Sossn cﬁ;:é; ﬁ"@.:ﬁa‘ﬁgéa“-ﬂaim

(I - Sogsin 6, k - @ow aRrgsin )

e

Options :

2.
3.
o, |
| Rl
4,

Question Number : 61 Question Id : 9168515057 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Due to combmation of two SHMs with same frequency and amplitudes which are
moving m perpendicular directions, for what phase difference (¢ ) value, the Lissajou’s
figure 15 a circle.

e i‘"‘é:@é;ém @0 S0 HBNS Bo Y wobdod® Hairdod Bokh B

B8orre So&rridn doi HEsty O Y o8 '3, Sdorre Bl B850 (¢)

Dens) aods?

Options :
0
1.
T
4
2.
T
2
3.
T
4.

Question Number : 62 Question Id : 9168515058 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Relaxation time 1s the time taken by the oscillator to loose its mitial energy by what
factor ?

28 Bosim &3 FL8 st DR 0 ?@i@e‘.ﬁ: &%Eﬁ TR DT85 000!
Options :

1. ©
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P |
2. ©
3. €
4. © 7

Question Number : 63 Question Id : 9168515059 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A string rigidly fixed at both ends has 930 Hz as second overtone. What 1s the

frequency of its first overtone ?

Both D580 SS0re DRotnds .8 &R (%) Boiked ©88 FFR:ho 930 Hz ©onE
w S

ol S0é 08%Y ?Pé:aj;é;?mé?

Options :
: 465 Hz

310 Hz
2.

620 Hz
3.

1860 Hz
4,

Question Number : 64 Question Id : 9168515060 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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What 1s the wavelength of ultrasonics of frequency 25 KHz m the air, when their
velocity is 350m/s ?

25 KHz &P:9;

8 dod?
=l

& o eagbe m0&* 350m/s 308 [Hardodssh, =6 s¥oi

Options :
: 0.14 mm
14 cm
2.
7.14m
71.4m

Question Number : 65 Question Id : 9168515061 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fourter theorem is applicable to a function, when it is
Do (B, §BcS brrosing eXBBohi, eEhabo
Options :
Single valued

o508 Dend Bed

finite & contmuous

QBROMD, VYO BoLHEW
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periodic

BIBIOM™ SoSEIT
3.

all of these

=0 ?:JCJT{.J.'JE‘{.G‘*@.Z?SC:.\ FE0LRNTD
4.

Question Number : 66 Question Id : 9168515062 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

X-cut quartz crystal thickness is 0.3 cm. Wave velocity in quartz crystal is
5700 nv/s. What 1s the fundamental frequency of the quartz crystal?

X- po&d 58 985 oo 0.3 cm :‘é Q) of® $80if 3rfo 5700 1v/s ©and 90s
: .

Options

1 9.5x 10° kHz
950 kHz

2.

171 x 10° Hz

1950 Hz

Question Number : 67 Question Id : 9168515063 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The tip of a needle doesn’t give a sharp image on a screen, because of

B8 Srband @) 3 (Pédono wdE )b 8w
ind (LR o

Options :
dispersion

g}gaﬁ £90000

Polarization
(BoSeasim

mterference

é&&éfﬁm;ﬁm

diffraction

D555

Question Number : 68 Question Id : 9168515064 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Acircularly polarized beam of light passes through a quarter wave plate. The emerging
beam 13

585508 HBad @%?‘8%@5 608, ©f Jdhood S80 $oso SHod JewHds S wHes
X “ L
) %m@‘ ochi%?
Options :

Plane polarized
DESw (82
[H]
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circularly polarized
B (HDSHS

Elliptically polarized
HEREADH (DSBS

Partially polarized

85 D8R8
4,

Question Number : 69 Question Id : 9168515065 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the Helum — Neon laser, the discharge tube 1s filled with Ne — He gases in the ratio
of

$29050-205rS Bub dairbs &) 5@‘50@& Ne - He oo 48

Options :
.ol
1:10
2.
2:3
3. =Sne
3:2
4,

Question Number : 70 Question Id : 9168515066 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Two waves having intensities in the ratio 25:4 produce interference. What is the ratio
of maximum to mimnimum intensities?

=08 SHde A8 25:4 e Both w08 ddorre é;@ééer  EDR0DNIW, “’Ue‘?aéiﬁea
o 163, 50K SEide 08 Mo

Options:

Question Number : 71 Question Id : 9168515067 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The focal lengths of thin lens made of glass are 101.5 cm and 98.5 cm for red and
blue rays respectively. Dispersive power of the glass 1s

2.8 oo Sbso Gos) 'ﬂ"ﬂ*oéé Denden 0 Borvd 101.5cmdD Sord ddered
98.5 cm eowd e Soeg T Ao

Options :
0.30
0.02

2.
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Question Number : 72 Question Id : 9168515068 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the graded mdex optical fibre. how the refractive ndex value changes from core to
cladding.

a8 5033) 8ot 5%5 08 Aol S84555 heassn Jevsd HKorr

Srddod?

Options :

No change
S8 BOED

Core have comparitively less refractive mdex value than that of cladding

50 BN rHeosdm, ol I JEFII rheesin SoB SXRT GoHD

suddenly increases from core to cladding
5255008 TAORSH SEFSS rhrassn Jend FodT WEIHEHD

reduces continuously in parabolic manner from core to cladding end boundary.

5°6:008 8oh ﬁ&&ﬂﬁéﬂg 35% H5683 Soeduchiorr e‘é@e‘.’wo&

Question Number : 73 Question Id : 9168515069 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The mean freepath of the gas molecules is nversely proportional to its

T @ W) D8 é:é;é:o & (8ob acin éméﬁé A EFH>EE B0,
LY
Options :

Volume

ECVIES SR bLTe Eae

Pressure
5550

Temperature
(el

Mass of the molecules

e (BT>3

Question Number : 74 Question Id : 9168515070 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the distribution of energy radiated by a black body. we find Plank s formula reduces
to Rayleigh — Jeans formula for

ﬁa% ) D88 EBnEH SonoBodd o $88mo 3 0ins8 6@-&55;
$&8BRH%0n?
Options :

Higher wavelength region
@6% S0 Qéﬁ wIoe*

1. =
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Small wavelength region
©) 5ol Qgp ©3HSt

=

Higher wavelength region and Small wavelength region
@8% &S50l Qgr o388° Hdchn o) 8o Eér o368
o o

No relation between the two

& Boh Hnssre S Jonodo TE
4, "

Question Number : 75 Question Id : 9168515071 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The particles in a system obeying the Maxwell — Boltzmann statistics are

=
| =

a%ﬁﬁ—ﬁ*g 0 HeroBoid E0R Scren

Options :
only identical

:-2'::5; S JeaTRRI a0 e

only distinguishable
2% T SrEKed

2.

identical but distinguishable

D RS Knen $oBckn IR SrEKeD
3. 4
4.
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identical but indistinguishable
BB dsmen $Bckn IBHBB $eETID

Question Number : 76 Question Id : 9168515072 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The ratio of slope of the adiabatic to the slope of the isothermal line in the
P -V diagram is

P-V i gsnton, ?gﬁaa’%é 0Bk &

i}

Naras (BEohe dizce e é}&,ﬁ; a8 Dend wod?
o g

Options :
1. 0
1
2.
id
3. ¢
1
3
4,

Question Number : 77 Question Id : 9168515073 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In Joule - Thomson ( Joule — Kelvin) effect, in case of an ideal gas, it 1s

FS- ~Gra) Q TS -89 v) [5ro, *tStja raing) Diohost

Options :

1.
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always cooled

QR St

always heated

QY REENR

2 -
heated or cooled dependmg on the mitial temperature of the gas
TP FO siSD 28 Spathé, SR wBH
3. i
neither heated nor cooled.
Sontht, SR BKS
4. |

Question Number : 78 Question Id : 9168515074 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following is called total heat function (thermal potential)

& (S0 B0 dngo 8 (6235)0) (@Hebaaotrdy?

Options :

Helmholtz Function

Eﬁgéﬁg (BIcHo
&

Gibb’s function

AD) B3aio
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Enthalpy
o)

Entropy

OIS
4.

Question Number : 79 Question Id : 9168515075 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Viscosity in a gas. at tempature T

5°G50 L;Qé, &S Teo S donogo

Options :
increases in proportion to T*
T* $% o8 irdarso

independent of T
T3 sdadden

2.

proportional to T

T & ed&iSrddrso
3.

mversely proportional to T
. T & 9 5rioarso
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Question Number : 80 Question Id : 9168515076 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
If two conductors carry current in opposite directions. these will
BoH B8 T, $808 ddod® yd (HHEroHIYW
Options :

attract each other

&Eﬁ;ﬁﬁ:éo @é&nqoﬁis SRy

repel each other

RGTa s ESD éﬁéﬁc o Py
2,
no force acts between them
) &y W00 GO
3.
none of these
. D6 =%

Question Number : 81 Question Id : 9168515077 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
At the centre of a current carrying single turn circular loop. magnetic field intensity
is B is
b HEs8 iy Soch Soosy eddiod ¥ 8Es B =

Options :

1.
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47 R

Question Number : 82 Question Id : 9168515078 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The ratio of the mtensity of magnetic field at the centre of a very long ideal solenoid to
that at 1ts extreme end is

o8 SPURN oY) crDmranl @nE) i griio, D8 wodh I AY)T edbired B
] b

a.‘ v L ala - Yoo B
sde iy A8

Options:
".).
1. 21
1:2
2.
I:1
3.
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-2
r_u

Question Number : 83 Question Id : 9168515079 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which one gives a correct relationship between joule and coloumb ?
&6 Hbaw Herode e SBFR Koo

Options :

joule =1 coloumb™ x 1 volt

S =1 Heoeods ' x 1 &G
P

2

1 joule = 1 couloumb x 1 volt

1@£:1§DWDE§K1&%§E

2,
1 joule = 1 coloumb x 1 volt
1 &6 = 1 SHoroad x 1 &9
3,
1 joule = 1 coloumb’” x 1 volt
l &6 = 1 Heorodd °x 1 &g
4.

Question Number : 84 Question Id : 9168515080 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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When an Electromagnetic wave 1s propagating through a medmm having dielectric
constant ¢ and refractive mdex n, they are related as

&g ?gwoém €, é@aﬁééfﬂueaésﬁw 180 &8 RSy o Athytiaharod dboro
(DOIPRODRY, & Totdd Airds cﬁoge: D Homotio

Options :

2

e —n
1.

s o

== 7
2.

=M
3.

Question Number : 85 Question Id : 9168515081 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Sign of the Hall co-efficient determines the
S Heago 1HE) BOADEENIG
Options :
magnitude of charge carriers

: BRES0 DB

average energy of the charge carriers

BRSO e 48
2. =
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density of charge carriers

3 CRETE Fo|sS

nature of charge carriers

f w2, o
8IFT0 Agrao

Question Number : 86 Question Id : 9168515082 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Capacity of an 1solated spherical conductor 1s numerically equal to its

#

8 Dalng et arsidn 308, SogmEsor ol o Dol Sdrdin?

Options :
Diameter
ST a0

1.
Radius
VALl o TPy

2 = o

Surface area

Gandde JTersn
_ (]

Volume

P SB o)

Question Number : 87 Question Id : 9168515083 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Current of frequency 50 Hz is flowing through a series LCR circuit in which a capacitor
of 5 uF . resistor of 10 Q are connected to an inductor L. If the voltage and current
are in phase, then value of L is

25 (38 LCR Seocko S0 50 Hz DeiyS (@3ErodnhB. dodho Sa=btlb S puF
28%%0 10 Q, cﬁoiééc L 5% Sendodid. Sochod® g, 968 Pamiro o8 §56°

608, L dend dod’

Options:
7
1. 2H
2mH
2.
SmH
3.
0.05H
4,

Question Number : 88 Question Id : 9168515084 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For operation as an Amplifier. the base of an NPN transistor must be
$8E50e HARWLS 28 NPN €= ‘5 GO0 & (Bod DPsrr GolNdD

Options:

Positive with respect to the collector
ESRS SR &) Sorrir
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Negative with respect to the Emitter

ﬂq&s%gs ey e Eorrir

Positive with respect to the Emitter

Cloidel=loy e S Bormar
} -t =

Zero volts.

2

Py, TR
4, -

Question Number : 89 Question Id : 9168515085 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In transistor CB configuration, I = 1 mA and ¢ = 0.95 then the value of Base
current 1s

(¢=5 CB Sorrsing® I =1 mA 8o o = 0.95 sond 37 (w5d) Dikxy6 Pariro

Dend?

Options :
0.95 mA
1.05 mA
1.95 mA
0.05 mA

4.

AP EDCET 2020



AP EDCET 2020

Question Number : 90 Question Id : 9168515086 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

(0.5625),, 1s equal to which Bmary number
(0.5625),, 0588 2 &% Soggd Seimeisin.

Options :
. 0.1011
5 0.1001
3. 0.1010
" 0.0100

Question Number : 91 Question Id : 9168515087 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The output zero is obtained in NAND Gate, when the inputs A and B are
A 580k B ol i 6" 3% NAND 71§ € 09 98 Lraipainoidy

OB,

Options :
A=1;B=0

A=0:B=1

A=]; B=1
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A=0:B=0

Question Number : 92 Question Id : 9168515088 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Interms of Regdberg’s constant R, the wave number of the first Balmer Ime is

§533§ ?gmoéo R Serof®, Inie o0 Bp @ws) $8or Sosy
1 & &

Options :
i
36
3_6 R
2 ()
SR
3. *
S
4. J

Question Number : 93 Question Id : 9168515089 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The deBroglie wavelengths of a Proton and an « — particle are equal. The ratio of
their velocities 1s

(EPerR S8 o - Serw G3%D SBoif Boe o deniden BErSHONE, =6 e A8

)
2oi?

(=)

Options :

k3
1.

1:2
2.

1:4
3.

4:1
4.

Question Number : 94 Question Id : 9168515090 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which experiment of the following proved the wave aspects of the particles
Seasknn (g EBor Srgrar) SN BRBrrDa?

Options :

Photo-electric effect
Syl ] Stﬁ:;_g SDSE50

1.
Davison - Germer experiment
RESOSERV P ovailatbe

2. -
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Compton scattering experiment

5"0%5 $8Zdes (DSEerio
3.
Millikan’s experimment
=R (HE=io
4.

Question Number : 95 Question Id : 9168515091 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The Vector atom model which s given by Uhlenbeck and Goud smuth 1s associated
with

68085 0k TEYHer (8083 K6¢ Wirm S & (Bod Aldirod
202080038,
Options :

Space quantization
(1=t OIS E“;Dé%éét&

Spinning electron

(8555069 G5 QE}LE.;E

2.
Space quantization and spinning electron
BB8e8)5 smo&Edn 58k (FHecirs dolgN
3. -
4.
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Space quantization or spmning electron
BOHE Sﬁogoé%éésa BE (F0e05S Dol

Question Number : 96 Question Id : 9168515092 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

According to Bohr’s theory the angular momentum of an electron revolving in the

second orbit of Hydrogen atom is
58 Wrrodin Pobo TERS H8rm Bk 556" S0gDod Jolgd @)

hr

Question Number : 97 Question Id : 9168515093 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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. . Oy .
In the expression IﬁTf = Hy : H is known as
Ccl

i

cwr .
;f =Hy o 18550508 Hobhdd
ClL

Options :

Hermitian operator

TFERADS w00

1.
Hamiltomian operator
535&'1:%5 el le]

2.
Schrodinger operator

5 (£8&0155 @B
Wave operator
S8or Bt

4.

Question Number : 98 Question Id : 9168515094 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the one-dimensional harmonic oscillator, the energy levels are separated by a

distance

NEEAD Foeed Sloo G 3 r%:om, wlaglavele
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25 @,
2.

1/2 ha,
3.

4hieo
4. 0

Question Number : 99 Question Id : 9168515095 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What 1s the shape of the graph between disintegration constant (A) and Range (R) of
o — particle according to Geiger — Nuttal law ?

RKS - SrrirS QoHR0dnKin8809, o — St Db orodo S5, S TR8 D ARS
— o 6] o <

CREERS

Options :

Parabola

=

POPEeC00

Hyperbola

©HNTERO0HMD

Circle

iC
%Ejmm

Straight — line
4 D0

AP EDCET 2020



AP EDCET 2020

Question Number : 100 Question Id : 9168515096 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

NaCl crystal structure belongs to
NaCl%@50 Qoo 628 Joeod
Options :

Simple cubic

st uKo

FCC

SogBold oo
2.

B

IS o8 Podo
3.

None of these
4 26 =%

Chemistry

Section Id : 916851178
Section Number : 5
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851224
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9168515097 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The heterolytic fission of CH3Cl1 gives
CH3C1 0300g), 920530 DA\S S0 iﬁd:}ci &S\ T 0

Options :

(CHs3™ + CI)
2{CH{+£T}

(CH3"+Cl)
3.

(CH2" + HCl)
4.

Question Number : 102 Question Id : 9168515098 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The correct order of —I(negative inductive ) effect is
—I Derdo(20069 9ODS Perdo) AAWE) VB Svo

Options :

-COOH > NOy> -F = -CN
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5 -NO;>-CN>-COOH > F

3 -F > -NO; > -CN > -COOH

4 —CgHs> -OH = -OR > -1

Question Number : 103 Question Id : 9168515099 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The correct stability order of 1)C‘H3_5. 2)CH 3CH3+. 3)(CH 3)gC‘H+. 4) (CH3)3C ¥ 18
e H;Jr. 2)C H}CHZ-I_. 3) [(‘H;)gC‘HJr. 4)(CH3)C © V0G0 AIE), DI S0

Options :

: 1 >2>3>4

Question Number : 104 Question Id : 9168515100 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Carbene 1s formed as an mtermediate
& S06 D 5655”5963 VoG ECIES G \HA?

Options :

Friedel Craft alkylation
Tol3) 5°R @) T

Reimer-Tiemann reaction
B8:06-83:975 <5

Benzom condensation

80 000 JrofEGEa0
3.

Aldol condensation

esered roQEGeao
[
4,

Question Number : 105 Question Id : 9168515101 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

: , dry ether .
The products formed n the reaction [C3H;Br + CoHsBr+Na—— ] 15

1) CeHi4 2) C4Hio 3) CsHio
dry ether

[CsH7Br + CoHsBr + Na ———] 65 618 &y
1)CeHisa  2)CsHio  3) CsHp

Options :

1 1&2
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1 &3
2.
3. 2&3

1 28 3
4.

Question Number : 106 Question Id : 9168515102 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The net(system + surroundings) entropy change in reversible process 1s
B:56yEE HSNES” HDOS(51HR + LONVT ) ot APty Dew:d

Options:

0

always positive
Dga’g_}bw ST So

2.
always negative
QYN CT 2EFE) So
3.
QFE\I'
T
4,

Question Number : 107 Question Id : 9168515103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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KMnOy; OH~at25°C

The end product of the reaction CH3-CH»-C=C-CH,-CH3
KMnO, OH™at25°C

CH;-CH,-C=C-CH,-CH; >c55565 Dcijci ©0d[ &Sy 0

Options :
OH OH

|
CH,— Gl 6=C 6, — Ch,

il
CHB— CH2 = = e CH2 = CHB
2.
CHg— CH, - CHO
3. ’ -
CHE_— CH, - COOH
4. -

Question Number : 108 Question Id : 9168515104 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Of the following compounds which have the lowest combustion energy per — CH, unit
A ‘(o;‘j.)é%'fmvéﬁ 28 — CHy alrdta), 0d 855 Gird 35 890 &) D) ¥do

Options :

AN

1.
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9

Question Number : 109 Question Id : 9168515105 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Highly unstable conformer of cyclohexane is
DE 1780 B0, 9B[0eh VBBV WRVEPDE0

Options :

Boat
e5°¢S

Chair
£6 N

Half chair
%o 53'5;)
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Twist boat
ef‘;a&fg e5°¢5

Question Number : 110 Question Id : 9168515106 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The number of ring 7 electrons for compounds A, B. C and D are as6,10,12 and 14
respectively, of these which 1s not an aromatic compound?

A.B. C &0atn D &d S0y ?0353&@@"0 0oh T ng@ JrOO&J}S AN 6.10,12 206080

14 1r &85, DBS’ 0 ards 00} ¥ S0 D

Options :
D

1.
A

2.

;3 B

4, C

Question Number : 111 Question Id : 9168515107 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The critical constant “T,” for real gases is equal to
N2 S0 Wb JTroso “Te™™ Ded BAS DH°D0?
Options :
1.

AP EDCET 2020



AP EDCET 2020

3b
a
27b%
2.
8a
27bR
3.
3
= IWE
4. 8

Question Number : 112 Question Id : 9168515108 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A crystal system with a =b =c and a= ( =y=90°)
a=b =c 2000 a= (B =7=90°)&d) SIS ByHR
| £3 o
Options :

Tetragonal
Serf 565

Rhombohedral

, BoeS argieS

Orthorhombic
ugc&vaeﬁé
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Monoclinic
RUNERIES

Question Number : 113 Question Id : 9168515109 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following 1s not a pseudo halide

&1 1808 ¢3S G5 TFSE T DaNE3?

Options:
CN~™

1.

o, Na
OCN™

3.

4 HCN

Question Number : 114 Question Id : 9168515110 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Of the following which is not a limitation of Raoult’s law
& $06 TS 6°¢8 oo GIE), DOA S°AG ADE?
Options :

can only be applied to dilute solutions

DD GO AGD HPocsDdN
1.
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solute shouldn’t react with solvent
oS grddo tel 2600

can only be applied to aqueous solution
2O OIS DTS HBodDRN

solute should be non volatile

TP DB @ajﬂa;}%'u QP Eomd.
4.

Question Number : 115 Question Id : 9168515111 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

One solute molecule on dissociation gives 3 ions into the solution. then which of the
following shows correct relation between Van't Hoff factor and degree of dissociation”

28 G 01 JRVLR) BoBRY)D 3 LOIPH TR00, B Sob TS’ A0 ot

5 346 So6athy Dinbid 9308 S0 933 dowored) riod’

Options:
i-3

=%
1.

g=1—1
2.

a=i—2

3.
4.
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Question Number : 116 Question Id : 9168515112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For areaction the half life period s doubled when the tnitial concentration is doubled. then
what will be the order of that reaction

w8 SO 608 Teies 5‘?30?'-2) WO ¥3 208 S0 aéo‘@ e9:9)eh008, &30 Qo)

c$0°5300 Da?

Options :

0
1.

0.5
2.

1
3.

=

4. -

Question Number : 117 Question Id : 9168515113 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Bond order in He? ™ is
He? " ¢5° £3008 00

Options :
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<
A

Question Number : 118 Question Id : 9168515114 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The number of optical 1somers present for an organic compound with 3 chiral centers and
without meso form are

QR 70 G Dofhas 2 ¥08" 3 306 Sogrew ot D6\E w86 pTing oy
e £ ©
NG
Options:

. ©

Question Number : 119 Question Id : 9168515115 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The purple colour of KMnOy is due to
KMnO; aoos), €385 Godgd 576830 Doe3?

Options :
d-d transitions
d-d H858Ten

colour of the ligand
gmrot 030E), Gorb

metal ligand charge transfer
2068 - Grro& 5 A

colour of K* ion
K eoairD cag) Gorld

Question Number : 120 Question Id : 9168515116 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Gold mumber 15 defined as the weight m miligrams of a protective colloid added to prevent
coagulation of 10 ml of gold sol on addition of

2 10ml F{’eg F& £ 8D )00 BiS0E? Q03RS SN
008 Sgrand diug) 209 Tawe o FE dowb wotre.

Options :

1 ml of 10% NaCl
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1 ml of 10% AgNO3

2.
1 mg NaCl
3.
1mg AgNOs3
4.

Question Number : 121 Question Id : 9168515117 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Among 13th group elements which has highest tendency to form complexes?
ROV 618 Werdo B ) 139 (rd dareogo ?

Options :

boron
eSS

aluminium
@wﬁmz)am

galllum
mdodo

thallium
oo
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Question Number : 122 Question Id : 9168515118 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The correct order of abundance of elements in the earth crust 1s?
A ER S DurwseL DHE 30E) VG Eo?

Options :

Al>0>Si

Al>Si1>0

0 > S1>Al

S1 >0 > Al

Question Number : 123 Question Id : 9168515119 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Hinsberg reagent 1s
) 20 32380 e

Options :

Aluminum isopropoxide

DoAodo DV°T IS \E
| oy 0 DI TSy

Butyl magnesium bromide

220636 20 2a0do &5 0&
2.
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/nCl+ HCl1

; /nCl, + HC1

Benzene sulphonyl chloride
, BB RS S EBE

Question Number : 124 Question Id : 9168515120 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Chichibabin reaction is
e Rl

Options :

electrophilic substitution reaction of pyrrole
DES 030 JEDDE HAFDED 6§

nucleophilic substitution reaction of pyrrole
S A3ng), ATEArDOE PAEDe 56§

electrophilic substitution reaction of pyridine
DO G0, JVEDDSE DAFDea

nucleophilic substitution reaction of pyridine
DOAS ), Ar(EAIrDS HAFDE 6§

Question Number : 125 Question Id : 9168515121 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The spin and oxidation state of won m oxyhemoglobin is
@S\ rarf DT p6S(Fe) aing) 2yO L6050 88866 DS
Options :

high spin (+2)
a>° '..5’13:]5 (+2)

low spin (+2)

'E'SGEJ:]E.')[-FE)
2.

high spin (+3)

a>® e (+3
3. 7~y 05

low spin (+3)

66533-5 {-I-S}
4.

Question Number : 126 Question Id : 9168515122 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The Aldohexose pair formed from D-arabinose in Kiliyanifisher s;fmhesis IS
D0 R0 0NN B-058SR H0A EIE & 80 208
Options :

D-glucose + D-fructose

G-0r€'8 + &-pESE
1,
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D-glucose + D-manose
-8 + &-00 38

2
D-glucose + D-galactose

; &-6rEd + &-rerEd
D-glucose + D-talose
G-0rEE + G-ereSS

4.

Question Number : 127 Question Id : 9168515123 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Of the following which one 1s an essential amino acid
306 TS 32988 AN e3:0

Options :
alanine
: LDIDISIS
proline
5 TOS
glycine
QISIS
3.
metheonine
DAMBIDD
4.
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Question Number : 128 Question Id : 9168515124 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What 1s the oxidation state of lead in Pb3;Oy4 ?
Pb30465° 200 GI0E), e981568 DA DE?

Options :

24

Question Number : 129 Question Id : 9168515125 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which nitrogen oxide has neutral and paramagnetic nature?
@ dGa BSE SR O T WO 08 VTR SR Gotwod?

Options :
N->O

1.

5 NO

3.
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N>O3

NO,

Question Number : 130 Question Id : 9168515126 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

[Ni(H20)6]" +3 en—» [Ni(en)s]*™ + 6Hz0: in this reaction
[Ni(H;0)6)" +3en —>  [Ni(en)s]*" + 6H,0: & 35"
Options :

entropy decreases
Dot s BBk

ENntropy increases
Dot DEEBD

2.

no change in entropy

QoS eS* H°cdy T
3.

AS can not be estimated from equation
\ REGE0 W0l AS BDNTo

Question Number : 131 Question Id : 9168515127 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The correct order of the strength of trans directing nature of the ligands
08 TS’ Grroby AINE). EPRy EOS0h SR (P BTN go

Options :

-CO > -PR3> -NO»> -Cl

-Cl= -PR3> -NO2>> -CO

2.
-PR3>-CO > -NO,> -Cl
3.
-CO >-NO,> -CI> -PR3
4.

Question Number : 132 Question Id : 9168515128 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Of the following which 1s not an amphiprotic oxide?
300 oS’ iS5 S & 526 G?

Options :

1 /n0

, AbO;
, Mgo

SnO
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Question Number : 133 Question Id : 9168515129 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following solvents is used i preparation of Grignard reagent?
) 6 57680 040" S0 S Agraded edErAoeCORd ?

Options :
alcohol
Bﬂ&ﬁé
dry ether

, A 650

moist ether
Eﬁg r=STale

dioxane
c:iod:*vé:j,%

Question Number : 134 Question Id : 9168515130 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

When ethyl alcohol is heated with concentrated sulphuric acid at 170° C it gives
170°C ¢ trcé oy 68 anod 9B ) R0y 3¢ SV INE Edvdyo
Options :
Acetic acid

| dBBE eso
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Ethylene
2BdS

Acetaldehyde

DEFDrE
3. L

Ether
r=STte)

Question Number : 135 Question Id : 9168515131 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a Carnot engine 1s working within hot reservorr (source) temperature Ty and the cold
reservolr(sink) temperature Ts, then the efficiency of that Carnot enging is
28 58§ 080 D¢ 620706 &l Tr ddaby 8% daoaib (Vo§) e Tso

2068] DA5o8S, & 58§ @02 A8 3"&)9}60

Options :

Ty

Ts
1.
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Question Number : 136 Question Id : 9168515132 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Phosphorus on reaction with oxygen emits light this is an example for
8 a8 0[ H0R EPR(G0 S dcse Sinoed. & DI B3 GorrdnT
E)?bbbrﬁja?

Options :

fluorescence
NESISISN

phosphorescence

chemiluminescence
2 Qmw&ﬁ)?&%ﬂ

Phosphorylation
FI\FTAD

Question Number : 137 Question Id : 9168515133 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The correct trend of atomic radii among lanthanides
roBDE HOAPEW TR CIE), FD §Bvo
Options :

: Ce=Pr=Eu> Lu

5 Eu=Pr=Ce> Lu

3 Pr=Ce=Eu=Lu

4 Eu=Ce=Pr=1Lu

Question Number : 138 Question Id : 9168515134 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Of the statements given below the incorrect one is
&S00 PIST S DOADIA STAA AAE?

Options :

Tetrahedral complexes can show optical isomerism
SBEPrEe SP0ENRD 92356 DI RO BIPDOL()

Octahedral complexes may show optical isomerism
357G STV 8DES DU RBOR BV

Square planar complexes can show optical 1somerism
Q)8 P8 50D ¥ES DI D0020A Lo
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Some Octahedral complexes can exhibit geometrical isomerism
) £y e stoRhyen B Freygioad B0 0O

Question Number : 139 Question Id : 9168515135 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The reactivity towards hydrolysis is in the order of

& 00 QD TS 20D B[ VD STFVS o A’
Options :

benzyl halide > tertiary halide > vinyl halide > aryl halide
808 FTE> SyBaD FTE>DIS FTE>JFS FTE

aryl halide > benzyl halide > tertiary halide > vinyl halide
A0S FTE>D0FES SFTE> By TFSE>DIS FTE

vinyl halide > benzyl halide > aryl halide > tertiary halide
DS FTE>8308S ST E>I0S FOE> Sydob FTE

tertiary halide > benzyl halide > aryl halide > vinyl halide
By D0D DT E>B308S FGE>ITES FTE>DIS FTE

Question Number : 140 Question Id : 9168515136 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The major product formed when phenyl acetate is heated at 170° ¢ in presence of
anhydrous AIC is

252 AlCk 030506 536 s 170" ¢ 5 52 Bt K D6yE s o
A

Options :

)

1.
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Question Number : 141 Question Id : 9168515137 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The catalyst used in Rosenmund reduction of acid chlorides
asrdE §0¢ Bo0wok 664 &HAairfod &8 6o

Options :

: LiAlH4

5 Pd-BaSO4

3. Sn+HCl1

/n-Hg
4.

Question Number : 142 Question Id : 9168515138 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The product formed in Aldol condensation is
€565°€5 FPoBEGE0 & DBYCE E:8y0) 0 D3?
Options:
a-hydroxy aldehyde

ol- bﬁmgh es8o&
1. Oy e o B

B-hydroxy aldehyde
B-2rersy wdiré
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y-hydroxy aldehyde
y-ireSy wdrd

dihydroxy aldehyde

, EZEyulird

Question Number : 143 Question Id : 9168515139 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the preparation of Fehling’s reagent the following salt is used
200oh S°650 A, B0IrEeS” & S8 D wBE0 EDAIFAoLLICBIOR?

Options :

potassium sodium citrate
1 Feraoido VEabo eI

potassium sodium tartrate
Jeraacivo VGoto ey

potassium sodium oxalate

eraoio Vdaio e3ETES
3.
calcium acetate
?Qo:bo 09 0E365
4.

Question Number : 144 Question Id : 9168515140 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The reagent used to convert carboxylic acids to primary amines in Schoudt reaction
85 (8" 59078198 3P 200 RNV APENGERS Gi0GIr ol S6S0

Options :

. NH;

N2Hy
2.

N3H

NH,OH
4.

Question Number : 145 Question Id : 9168515141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

NaoCy Hg C]CH)CUO CyHe H30+ i
CH3COCH,COOC,Hs > A » B— X+ CH;COOH + C;HsOH
What 1s X" n this reaction?
NaoCyHg CltHzCOO C;H:  Hg
CH3COCH,COOC,H; » A »B

& a:sﬁ X eots aaned?

0+
» X+ CH;COOH + C,Hs0H

Options:

succinic acid

1. i

maleic acid

200S g0
2.
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malanoic acid
2 Jans R3320

tartaric acid
@gﬁéé R3:4000
4.

Question Number : 146 Question Id : 9168515142 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
In the phase diagram of water how many degrees of freedom are present at triple point
8 P Do’ B8 Do) G ATYVOAR Mo Jods?

Options :

5

-]

Question Number : 147 Question Id : 9168515143 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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In the Rast’s camphor method the molecular weight of substance can be measured based on
the following colligative property
09 500 :agae?‘ 0G0 AR08, LTG0 & S8 2 SPERY (56)0 MiFaked

§ E.JE.‘JD&'I)&'?

Options :

elevation in boiling pomt
N HDD D 608

RLVP
RLVP

depression in freezing point
20ABDD PR oy &

0smotic pressurc
BaPDRCE DD

Question Number : 148 Question Id : 9168515144 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What is the EAN of nickel in [Ni(NH3)g]*" ?
[Ni(NHz)6]*" &°0 D3¢ cing), EAN Densd Joes?

Options :

. 35
36

2.

AP EDCET 2020



AP EDCET 2020

Question Number : 149 Question Id : 9168515145 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The following not an application of Kohlrausch law
S0 E'STrR Jatdvo AlE); VDG S°AL DE?

Options :

Determination of equivalent conductance of weak electrolytes
QVPHRD JVETE SOUP0S DTSSR gonodcio

Determination of degree of dissociation of electrolytes
DOE'TE GIE). DD DA ddowocscio

Determination of solubility values
TrdEciS Dendes) AFoWoEo

Determination of transport number
925200 "{00335533 r‘i}gwurzﬁcﬁ,o

Question Number : 150 Question Id : 9168515146 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The electrode material used in calomel electrode is
5°¢5° 2065 ae.:gcw"’ &H03rA0S Dﬂgé Hoego

Options :

: Hg/Hg>Ch

Ca/CaCl
2.

HgO/CaCb
3.

K/KC1
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